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SN BA(SA) - MRAY - BES 0l &t o il HImEET
FEH 540,885 537,366 3,519
FEH FUHINHAES 23 172,762 168, 190 4,572
FEH MR 172,762 168, 190 4,572
FEH FUFHAH 60,080 66,080 A 6,000
201 Let24dy] 1,000 7,000 A 6,000
03 &Ar2 I 1,000 7,000 A 6,000
OREH SZCAMIIS A 1,000,000& 14 1,000
301 et d = 59,080 59,080 0
0b&-cl-EtEEsEas 55,080 55,080 0
OIUFSE =, 200,000& 1621« 12& 38,400
O0EarH= 200,000& x1621 23| 6,400
OO01Z 3lo&Ax=a 20,0002 *162!1+23| 123 7,680
Oogta ¢ 50,000& »520! 2,600
10 #ALAHIE A2 4,000 4,000 0
ORE UL AL S HAX AHIBA
1,000,000& * 14 1,000
O3z H3d dM=sUa 3,000,000& x13l 3,000
FEH FARI 2 44,002 32,630 11,372
101 @124 dl 1,868 1,496 372
04 JIZHHZ2XREE S 1,868 1,496 372
Oo=sXag 2 Fa 46,700 201 x202) 1,868
201 Let24d] 21,134 21,134 0
02 2324l 21,134 21,134 0
OZ22223 ¥ HAl 14,032,000& 14 14,032
O¢zl 4,102,000 1Al 4,102
OAl& & Hl s Xl 3,000,000& =14 3,000
401 AIEHI L 20HEI 15,000 10,000 5,000
01 A& HI 15,000 10,000 5,000
O=Xsl& 22 A 15,000, 0003 * 14! 15,000
405 RHoHE S HI 6,000 0 6,000
01 AL EZFH S 6,000 0 6,000
O=Xsg2 gIl(dos 2) 7
6,000,000 » 14! 6,000
2EH HdFXNA 67,180 67,980 A 800
201 ¢4l 20,100 20,100 0
01 At 22l 12,000 12,000 0
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o=zg=¢ 2,000,000& =14 2,000
02 =224l 8,100 8,100 0
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ORER= 4,600, 0003 =14 4,600
OXt& s Xl 3,500,000 » 14! 3,500
202 O4dl 46,080 46,080 0
01 = LH o4 4l 46,080 46,080 0
OJlzge=8 2ot (12¢!)
3,840,000& +x12& 46,080
405 XHobF S HI 1,000 1,800 A 800
01 et EZFH S 1,000 1,800 A 800
OXN&EA 7 200, 0002 »5CH 1,000
FEH A2 2eXH 1,500 1,500 0
201 L2l 1,500 1,500 0
02 23224l 1,500 1,500 0
OZzg A2&ed| |FANE=H
1,500,000& 14 1,500
FEH ASZ A 309,830 309,720 110
FEH AEF0=AAMS 309,830 309,720 110
FEH FQU=SFAAY 302,160 302,160 0
TAZHIZEUY 302,160 302,160 0
01 A& HI 300,000 300,000 0
OYA1-32 B2 EZE I AH(L=350m)
33,000,000& =14 33,000
Og&2- 32 s+2 &bl = AH(L=200m)
30,000,000& =14 30,000
O&=1-2-32| 0tserz XX IZAH(L=400m)
43,000,000& =14 43,000
O&=12l =2 &EHdl 3 AH(L=100m)
8,000,000& =14 8,000
OXF &1l ottt I I S AH(L=300m)
18,000, 000& * 14 18,000
OF &2 32 &2 A = AH(L=500m)
33,000,000& =14 33,000
OXFst4el Orord Z & 3 AH(L=100m)
18,000,000 * 14 18,000
O&s3el =2 Z& 3 AHL=380m)
40,000,000& =14 40,000
OLgiel ZHHA StAHl = AHL=100m)
20,000,000& =14 20,000
OLg22l otserd Jie B AHL=200m)
18,000, 000& * 14 18,000
Octz1el orsord ¢H JHE 3 AH(L=120m)
20,000,000& =14 20,000
o222l =2 EZ & 3 AHL=200m)
19,000, 000& * 14 19,000
03 Al 20 HI 2,160 2,160 0
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